100% Guarantee
Vendor:Huawei

Exam Code:H31-311

Exam Name:HCIA-Transmission V2.5

Version:Demo



QUESTION 1

The number of bit error blocks on each VC-4 channel is detected by B3 at the receive end. At the same time, the
information is sent back to the transmit end through (), and HP-REI and HP-FEBBE are reported at the transmit end.

A. K3 (bl-bd)
B. G1 (b5-b8)
C. G1 (bl-bd)
D. J (bl-b4)

Correct Answer: C

QUESTION 2

Manual configuration will clear data on the NE side.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 3

Which of the following are optical-layer trails? (Multiple Choice)
A. OCH

B. OMS

C. 0TS

D. OSC

Correct Answer: ABCD

QUESTION 4

Which of the following is the maximum number of OSN 3500 subracks that can be installed in a 2.2 m cabinet?
Al

B.2

C.3



D.4

Correct Answer: B

QUESTION 5

Which of the following bridges is used to forward data based on the MAC address and VLAN ID carried in data?
A. 802.1a

B. 802.1d

C. 802.1q

D. 802.11ab

Correct Answer: C

QUESTION 6

Which of the following operations may interrupt NE services? (Multiple Choice)
A. Searching for protection subnets

B. Searching for trails

C. Deactivating trails

D. Downloading NE data

Correct Answer: CD

QUESTION 7

WDM multiplexes the optical signals at multiple rates (wavelengths) over one fiber for transmission. The digital signals
carried by these optical signals must have the same rate and data format.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 8

In the SDH optical synchronous transmission system, which of the following bytes is used to transmit the quality and
usage information of clock sources?

A.G1



B.S1

C.N1

D. M1

Correct Answer: B

QUESTION 9

According to the formula of "ODUK rate = 239/(239-k) x STM-N frame rate", the ODU4 rate is equal to 239/235 x STM-N
frame rate.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 10

The EPL service exclusively uses bandwidth on the line, which is highly secure. It is applicable to the private line
application of VIP customers.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 11

Which of the following is the frame whose VC-4 J1 byte is indicated by the current frame\\'s AU pointer?
A. Current frame

B. Next frame

C. Previous frame

D. None of the above

Correct Answer: B

QUESTION 12

When the SXCS board is configured for an OSN 3500, which of the following is the access capacity of the subrack in full
configuration?



A. 35G

B. 58.75G

C. 80G

D. 155G

Correct Answer: D
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